KOS #E SHERD

=

£ |at|en| w5 EE e con| BsE |I)|D
BEBFN504 | 60| 47 8 1 0 4l 116,442 1| 1
REF0514 | 82| 52| 16 4 0 10 64,348 4| 10
REFN52 4 76| 54 8 1 0 13| 341,407 2| 9
BEAFN534 | 94| 59| 15 4 0 16 96,042 1| 19
REFN544F 70 40| 12 0 0 18| 462,883| 4| 10
BAFN554 | 64| 45 4 5 0 10| 133,398| 1| 7
BEFN564 | 51| 38 5 3 0 5 102,273| 0| 8
REF0574F 73| 54 8 1 0 10| 203956 2| 7
BEAFN584 | 80| 56| 12 2 0 10| 197,707 1| 8
REFN594F 71| 49 9 3 0 10| 124530( 1| 11
BEAFN604 | 68| 48| 11 3 0 6/ 139,118 5| 9
REF0614E 56| 34 7 4 0 11 174570, 0| 6
BEFN624 | 65| 48 5 5 0 7|  221554| 3| 7
REF0634E 64| 46 7 2 0 9 116,997 1| 10
R It 55| 44 3 2 0 6] 295689 2| 8
RG24 47| 34 5 4 1 3| 370371 8| 6
R 3E 60 41 8 4 0 8| 327455 1| 9
R4S 28| 25 1 1 0 1 176,999 2| 5
RS 5 40 33 3 2 0 2| 148186 2| 2
R 64 72| 52| 11 0 0 9| 215796/ 1| 16
RIS 65| 51 6 3 0 5 194,006 0| 12
R 8L 76] 53 8 3 0 12 150,707| 3| 11
RO 57| 41 7 2 0 7| 245362 2| 11
ER10E | 41| 32 3 2 0 4 215301 7| 7
RIS | 56| 46 2 2 0 6| 243118 4| 10
124 45| 31 3 6 0 5 181,313 6| 10
SER135 | 54| 28 4 4 0 18| 254,376 5| 11
R 144 77| 45| 10 5 0 17 148,361| 5| 10
SEREI55E | 64| 32 6 1 0 25|  119,186| 4| 11
R 164 82| 42 7 6 0 27 158,350, 2| 19
SERE174% | 55 38 5 5 0 7| 111697 1| 6
R 184 50, 30 5 0 0 15 146,319 3| 4
ERR194E 64| 40 4 5 0 15 80,041 1| 6
204 | 41| 28 1 2 0 10 52251 2| 5




KK #R EH(HHETA)

i EINRXA | &5 | BY | #m5F | B2l | iz [Zoith| BFE nE | &
S YTHT 8 8 19,560
{FEHET 6 6 48,373
E3RZN:) 1 1 48
21| |7 13 9 2 2 3,074
R IR HT 4 4 15,554
BEFN504 | LIET 3 3 3,375
A EEHT 5 3 2 3,103
JIMRHET 18 13 2 1 2 23,355 1
B B ET 2 2
wibE
&t 60 47 8 1 0 4 116,442 1 1
£ EINRA | &5 | BY | #m5 | B2l | Mz (Zoith| B8FEEE n®E | BF
S YTHT 5 3 1 1 6,213 1
{FEHET 4 3 1 2,548 1
= R HT 5 4 1 1,296
21| |7 10 7 1 1 1 5,575 1
R IR BT 16 12 2 1 1 3,084
REF0514E  |E LAY 9 5 4 10,379
A EEHT 5 3 2 2,387
JIMXHET 24 13 6 5 25,585 2
AR FF BT 3 2 1 7,281
k& 1 1 0
&t 82 52 16 4 0 10 64,348 4 10
£ EINRA | &5 | BY | #m¥ | B2l | fZTH (Zoith| BEEE n®E | BF
SYTHT 6 5 1 18,794
{FEHET 6 5 1 13,108
= R HT 4 3 1 2,146 1
21| |7 11 8 1 2 14,352 1
R IR BT 11 8 1 2 235,102
REFN524F |ELET 8 5 1 2 24,790
B EEHT 1 1 1,372
JIMXHET 23 16 5 2 24,655
AR FF BT 6 3 1 2 7,088
wibE
=Xl 76 54 8 1 0 13 341,407 2 9
£ EINRA | &5 | BY | #m¥ | B2l | fZTH (Zofth| BEEE n®E | BF
SYTHT 8 8 9,079 2
FERT 2 1 1 1,727 1
= R HT 5 3 1 1 8,257 1
2 || BT 14 5 5 1 3 5,646 2
RIRET 18 13 1 1 3 22,645 3
REFN534F | LMT 12 8 4 20,671 1 3
B EEHT 6 3 1 2 5,344 2
JIHZHET 22 14 2 1 5 16,034 5
B FF HT 7 4 2 1 6,639
BiE
&t 94 59 15 4 0 16 96,042 1 19
£ EINXAl | &5 | B9 | %% | Bl | T [ Zofh| 8FEE ®E [ &
SYTHET 5 4 1 947 1
FERT 2 1 1 335,590
= R HT 10 8 2 66,605 2
2 ) || BT 8 3 2 3 5,774 1
{RIRHET 15 11 2 2 25,998 3 5
REFN544F | LET 7 4 1 2 11,788 1 1
B EEHT 0 0
JIHZ BT 20 9 4 7 16,181
SR FFHT 2 2 0
ik 1 1 0
&t 70 40 12 0 0 18 462,883 4 10




i BEINRXRA | 5 | BY | #m5F | B2l | iz [Zoith]| B8FE nE | &
S YTHT 5 3 1 183 1
{FEHET 3 3 12,114
E3RZN:) 4 4 8,242
EML:) 10 6 4 12,441 1
R IR BT 8 3 1 3 26,008 2

BEFN554F | LET 7 6 12,697
A EEHT 2 2 254
JIMRHET 15 13 1 1 40,645 3
AR FFHT 8 5 2 1 15,124
k& 2 5,690
&t 64 45 4 10 133,398 7
£ BEINRA | 65 | BY | #m5 | B2l | fiZTH (Zoith| B8FEEE n®E | BF
S YTHT 5 5 14,034 1
{FEHET 3 1 1 656
= R HT 2 2 3,830
21| |7 15 13 2 14,524 1
R IR BT 7 6 33,594 3
BEFN564F | LIET 9 8 22,602 1
A EEHT 2 2 27
JIMXHET 5 2 2 1 1,028 2
AR FF BT 3 1 1 1 11,978
wibE 0
=Xl 51 38 5 5 102,273 8
£ BEINRA | 65 | BY | #m5 | B2l | fZTH (Zoith| B8FEE n®E | BF
SYTHT 6 5 1 1,615
{FEHET 1 1 23
= R HT 4 3 1 1,338 1
21| |7 17 12 1 4 27,085 2
R IR BT 11 11 50,744 3
REFN574  |ELLET 7 4 3 9,891
B EEHT 7 5 2 15,960
JIMXHET 18 12 4 2 18,546 1
AR FF BT 1 1 32,471
BdbE 1 46,283
=Xl 73 54 8 10 203,956 7
£ EINRA | 65 | BY | m% | 5l [ iz |20 8548 n®E | BF
SYTHT 8 5 2 27,181 1
{FEHET 4 4 21,055 1
= R HT 6 6 2,832 1
2 || BT 11 8 1 1 61,926 1
RIRET 11 8 1 2 26,138
REFN584F | LIMT 10 8 1 1 17,121 1
B EEHT 6 4 2 14,906
JIHZHET 17 7 7 3 24,153 3
B FF HT 7 6 1 2,395
ik
&t 80 56 12 10 197,707 8
£ EINXA | &5t | Y | %% | Bl | T [z 8FEE n®E | BF
SYTHET 8 4 3 1,246 1
FERT 4 4 14,470
= R HT 4 3 1 562
2 || BT 15 10 3 2 19,825 1
RIRET 7 6 1,144 2
REFN594F | LMT 12 6 3 2 9,995 3
B EEHT 4 4 9,179
JIHZ BT 13 8 3 2 50,491 4
SR FFHT 4 4 17,618
HikE
&t 71 49 9 10 124,530 11




i BEINRXRA | 5 | BY | #m5F | B2l | iz [Zoith]| B8FE nE | &
S YTHT 6 4 2 4,428 2
{FEHET 2 1 1 860
E3RZN:) 4 3 1 30,372
EML:) 15 11 2 2 14,012 1 2
RIFHET 13 11 1 1 31,513 2

BEFN604 | LIET 12 6 5 1 15,555 1
A EEHT 1 1 33
JIMRHET 11 9 2 36,730 1 5
AR FFHT 2 2 4,461
mibE 2 1 1 1,154
&5t 68 48 11 3 6 139,118 5 9
£ BEINRA | 65 | BY | #m5 | B2l | fiZTH (Zoith| B8FEEE n®E | BF
S YTHT 5 3 2 1,813 1
{FEHET 4 2 2 1,493
= R HT 5 5 13,720
21| |7 8 5 1 1 1 15,480 2
R IR BT 11 7 1 3 93,124 1
BEFN614 | LET 4 2 2 13,104
A $RHT 1 1 40
JIMXHET 13 8 4 1 24,906 2
AR FF BT 2 2 9,718
k& 3 3 1,172
&t 56 34 7 4 11 174,570 0 6
£ BEINRA | 65 | BY | #m5 | B2l | fZTH (Zoith| B8FEE n®E | BF
SYTHT 9 6 1 2 12,539 1 1
{FEHET 2 2 8,341 1
= R HT 7 4 1 2 16,270
21| |7 8 6 1 1 17,066 1
R IR BT 7 7 35,509
REFN624 | LIET 5 3 1 1 3,768
B EEHT 5 4 1 5,339
JI{RET 17 14 1 1 1 91,250 1 5
AR FF BT 2 2 31,351
BdbE 3 3 121
=Xl 65 48 5 5 7 221,554 3 7
£ EINRA | 65 | BY | m% | 5l [ iz |20 8548 n®E | BF
SYTHT 12 10 1 1 14,435 3
{FEHET 1 1 7,433
= R HT 2 1 1 304
2 || BT 10 7 1 1 1 52,806 1
RIRET 13 12 1 13,218
REFN634F | LET 5 3 2 4,026 1 1
B EEHT 6 4 2 7,715
JIHZHET 11 6 3 2 15,669 4
B FF HT 3 2 1 1,235 1
BibE 1 1 156
&t 64 46 7 2 9 116,997 1 10
£ EINXA | &5t | Y | %% | Bl | T [z 8FEE n®E | BF
SYTHET 7 5 1 1 34,624 3
FERT 3 2 1 5,247 1
= R HT 3 3 3,337
2 || BT 13 11 1 1 146,243 1 2
RIRET 13 10 1 2 20,447
TrnE  |E LT 5 5 20,007
B EEHT
Jﬁ)lilﬁm 9 8 1 62,714 3
FHT
ik 2 1 1 3,000
&t 55 44 3 2 6 295,689 2 8




i BEINRXRA | 5 | BY | #m5F | B2l | iz [Zoith]| B8FE nE | &
S YTHT 4 2 2 10,942
{FEHET 1 1 215 1
E3RZN:) 3 3 1,117
EML:) 5 5 20,731
RIFHET 10 6 1 1 1 1 29,489 1 1
ER25 TN 5 3 1 1 10,354 4 1
A EEHT 1 1 4576
JIMRHET 14 11 2 1 280,409 2 4
AR FFHT 3 2 1 11,031
k& 1 1 1,507
&t 47 34 5 4 1 3 370,371 8 6
£ BEINRA | 65 | BY | #m5 | B2l | fiZTH (Zoith| B8FEEE n®E | BF
S YTHT 6 4 2 4,185
{FEHET 8 6 2 131,219
[= & BT 6 5 1 39,585 1
21| |7 11 6 2 2 1 17,670 4
R IR BT 7 6 1 34,191 1
ERRIE = LHET 11 8 2 1 59,721 1 3
A EEHT 3 1 1 1 3,230
JIMXHET 2 1 1 1,023
B FF HT 5 4 1 1 33,119
k& 1 3 3,512
=Xl 60 41 8 4 0 8 327,455 1 9
£ BEINRA | 65 | BY | #m5 | B2l | fZTH (Zoith| B8FEE n®E | BF
SYTHT 6 6 10,121
{FEHET 1 1 3,943
= R HT 3 2 1 7,362 1
21| |7 7 7 71,365
R IR BT 3 3 38,828 1
R4S EINL:) 2 2 4,007 2
B EEHT 1 1 71
JIMXHET 3 3 27,711 1 2
AR FF BT 1 1 12,963
R[] 1 1 628
=Xl 28 25 1 1 0 1 176,999 2 5
£ EINRA | 65 | BY | m% | 5l [ iz |20 8548 n®E | BF
SYTHT 3 3 2,472
{FEHET 2 2 840
= R HT 3 2 1 10,617
2 || BT 8 7 1 13,059
RIRET 9 8 1 36,370 1
ERSE TN 4 3 1 19,088
B EEHT 2 1 1 14,428
JIHZHET 7 6 1 36,870 2 1
AR FT BT 1 1 5,241
BibE 1 1 310
&t 40 33 3 2 0 2 148,186 2 2
£ EINXA | &5t | Y | %% | Bl | T [z 8FEE n®E | BF
SYTHET 3 3 639
FERT 6 6 64,613
= R HT 4 4 8,367
2 || BT 18 10 3 5 49,234 4
RIRET 9 8 1 12,215 2
ER6E TN 14 8 4 2 6,600 3
B EEHT 6 3 3 10,836 1
JIHZ BT 7 6 1 50,166 5
SR FFHT 4 4 13,126 1 1
ik 1 1
&t 72 52 11 0 0 9 215,796 1 16




i BEINRXRA | 5 | BY | #m5F | B2l | iz [Zoith]| B8FE nE | &
S YTHT 8 8 2,567 2
{FEHET 4 4 5,973
E3RZN:) 6 6 5,882
EML:) 6 6 5,492
R IR BT 12 11 1 88,573 3

ERRTE TN 9 6 2 1 18,625 2
A EEHT 4 2 1 1 9,683 1
JIMRHET 12 6 3 2 1 28,124 4
AR FFHT 3 2 1 28,957
k& 1 1 130
&t 65 51 6 3 5 194,006 12

£ BEINRA | 65 | BY | #m5 | B2l | fiZTH (Zoith| B8FEEE n®E | BF
S YTHT 17 15 2 52,414 1
{FEHET 6 4 1 1 10,657 1
= R HT 8 8 10,939 1
21| |7 10 7 1 2 12,734 1
R IR BT 14 9 5 6,277 4

TRSE TN 3 1 2 21,153 1
A EEHT 5 3 1 1 3,706
JI{ZHET 8 4 3 1 26,624 1
B FF HT 5 2 1 2 6,203 1
wibE
&t 76 53 8 3 12 150,707 11

£ BEINRA | 65 | BY | #m5 | B2l | fZTH (Zoith| B8FEE n®E | BF
SYTHT 8 7 1 71,859 2
{FEHET 2 2 3,107
= R HT 1 1 394
21| |7 10 7 2 1 33,374 3
R IR BT 11 8 3 88,271

ERRIFE EINL:) 6 6 25,667 1
B EEHT 5 2 3 909
JIMXHET 8 6 1 1 17,663 3
SR FF T 5 2 1 1 1 2,956 2
BdbE 1 1 1,162
=Xl 57 41 7 2 7 245,362 11

£ EINRA | 65 | BY | m% | 5l [ iz |20 8548 n®E | BF
SYTHT 4 4 1,578
{FEHET 4 4 20,616
= R HT 3 2 1 12,363 1
2 || BT 7 5 2 17,097 3
RIRET 7 6 1 129,354

ERI0E  |E LAY 2 2 1,868
B EEHT 5 4 1 542 1
JIHZHET 5 4 1 6,309 2
B FF HT 3 1 1 1 24,948
BibE 1 1 626
&t 41 32 3 2 4 215,301 7

£ EINXA | &5t | Y | %% | Bl | T [z 8FEE n®E | BF
SYTHET 6 5 1 7,167
FERT 1 1 14,639
= R HT 7 6 1 11,390 1
2 || BT 9 8 1 43,253 6
RIRET 8 6 1 1 91,617 3

FERgE | E LT 8 7 1 10,805
B EEHT 3 2 1 9,961
JIHZ BT 13 10 1 2 54,253
SR FFHT 1 1 33
HikE
&t 56 46 2 2 6 243,118 10




i BINXAl | &5t | Y | %% | =il Z Dk ] nE | &
S YTHT 4 3 1 24,095 1 2
{FEHET 1 1 15,007
E3RZN:) 3 3 1,105 1
EML:) 7 5 1 1 895
RIFHET 6 5 1 10,546 1 1

ER128  |ZLAT 7 3 2 2 14,287 1 1
A EEHT 6 2 1 1 2 710 1
JIMRHET 7 5 1 1 81,318 2 4
AR FFHT 4 4 29,350 1
wibE
&t 45 31 3 6 5 181,313 6 10

£ EINRAl | &5 | BY | K% | HF Z ik B n®E | BF
S YTHT 5 2 2 1 75,634 4
{FEHET 1 1 15,962
[= & BT 7 6 1 17,207
21| |7 8 4 1 3 19,349 1
R IR BT 10 5 5 12,904 1

ER13%E  |EAT 7 5 2 48,981 1 1
A EEHT 7 2 2 3 16,465 1 4
JIMXHET 6 2 1 3 4,838 1
AR FF BT 1 1 719 2
k& 2 2 42317
&t 54 28 4 4 18 254,376 5 11

£ EINRAl | &5 | BY | K% | HF Z Dk B n®E | BF
SYTHT 8 3 1 4 3,567
{FEHET 6 3 3 1,275 1
= R HT 4 3 1 21,562 1
21| |7 11 5 2 1 3 27,660 1 3
R IR BT 15 12 1 2 16,471 1 1

ER14%  |ZILAT 10 9 1 60,610 2 3
B EEHT 3 1 2 4,242
JIMXHET 13 5 6 1 1 4271 1
AR FF BT 5 4 1 7,334 1
BdbE 2 2 1,369
=Xl 77 45 10 5 17 148,361 5 10

£ BINXAl | &5t | Y | %% [ =il Z ik n®E | BF
ZInET 6 4 2 757
{FEHET
= R HT 8 5 1 2 17,708 1 3
2 || BT 18 8 10 57,934 3 4
RIRET 8 4 4 2,483 1

FRE15%F | E LT 8 4 2 2 5,650 1
B EEHT
JIHZHET 12 5 3 4 28,956 2
B FF HT 3 2 1 4,996
BibE 1 1 702
&t 64 32 6 1 25 119,186 4 11

£ BINXA | &5 | % | M5 | H il Z itk n®E | BF
SYTHET 4 2 2 754 2
FERT 4 3 1 21,976
= R HT 8 7 1 23,520 4
2 || BT 15 9 1 5 16,800 5
RIRET 14 9 1 2 2 49,773 1 6

TRg165F | ELLET 3 1 1 1 1,304
B EEHT 8 2 2 4 3,619
JI{RET 16 7 1 2 6 29,115 1 2
B FF BT 10 2 1 7 11,489
BiE
&t 82 42 7 6 27 158,350 2 19




i BEINRXRA | 5 | BY | #m5F | B2l | iz [Zoith]| B8FE nE | &
S YTHT 4 4 8,093
{FEHET 4 1 2 2,225
E3RZN:) 4 4 5,625
Z )11 Er 8 6 1 1 14,248
R IR BT 12 9 1 2 39,046 3
ERI7E [T 7 6 1 15,915 1
A EEHT 2 2 17,580 2
JIMRHET 11 6 2 2 1 8,965 1
B B ET 3 1 2
wibE
&t 55 38 5 5 0 7 111,697 1 6
£ BNl | &5 | % | A% | 5l | T | Zoih| 8F% n®E | BF
FEH 29 21 3 5 72,289 2 3
SITHET 6 3 3 3,502 1
[E & BT 4 2 2 7,132
ERLI8E  |JIMRET 8 3 2 3 42016 1
B FF HT 3 1 2 21,380
witE
&t 50 30 5 15 146,319 3 4
£ BINRRAl | &5 | &% | A% | 5l | T | Zoih| 8FZ n®E | BF
FEH 43 26 2 3 12 72,383 1 5
it 3 2 1 55
[E & BT 6 5 1 19,503
ERLI9E  |JIMRET 10 6 2 1 1 17,992
AR FF BT 2 1 1 108 1
wibE
=Xl 64 40 4 5 15 80,041 1 6
£ BNl | &5 | &% | A% | 5l | T | Zoih| 8FE n®E | BF
FEH 25 17 1 2 5 46,419 2
S YTHET 7 4 3 1,697 2 2
= & BT 2 2 1,851 1
205 |)IMRET 5 4 1 2,232
AR FF BT 2 1 1 52
wibE
=Xl 41 28 1 2 10 52,251 2 5




W OB) R

At

FHIER X 8 EkEE| iz @z FxRY Zoith
& = RBER | KBS | AARE | £2EH | LPEH |BaEW | BRESR | 0S|
HHRA |2 | 2w
BRFO| wsH% | 46 23 23 1 2 1 1 3| 100
584 | EaHu 5 1 1 1 8
59 HiGHs | 42 21 20 1 1 1 3| 89
SEENE B 1 9 1 1 12
60 Higty | 44 19 18 1 2 2| 86
SEENEB 1 5 2 2| 10
61 Higs | 31 21 34 1 1 1 1 3] 93
SEENE B 24 1 1 1 2| 29
62 Higtts | 48 17 26 2 1] 94
SEENEB 11 2 1] 14
63 Higts | 45 17 31 2 1 2| 98
EBHR 12 12
ERk| wmas | 44 11 21 6 2 1 1| 86
JLE | ERHH 10 4 2 16
9 Higts% | 34 12 15 4 1| 66
SEENEB 1 7 3 1] 12
3 H 15 44 3% 1 16 1 1 1] 20
SEENE B 13 1 14
4 H 1544 5% 25 1 11 27
EBHR 15 1 16
5 5 B 1 18 1 5[ 25
SEENES 1 7 1 4{ 13
6 H 1544 3% 21 3 1 1 11 27
SEENES 7 3 10
7 H 1544 5% 23 2 1 11 27
SEENES 8 1 1] 10
3 H 1544 3% 1 19 1 1 4 26
SEENES 1 9 1 1 2| 14
9 H 1544 3% 1 25 1 1 4 32
SEENES 12 1 2| 15
10 H 1544 5% 28 1 1 3 1| 34
SEENES 14 1 1 2 1 19
1 HiSH 35 4 4 1 1 1 5 51
SEENES 14 3 2 3 22
12 5 3 3 35 1 3 6] 48
SEENES 1 19 1 1 5| 27
13 HiSH 9 2 35 1 4 4] 55
SEENES 14 1 2 2l 19
14 HiSH 7 1 34 2 1 3 1 2| 51
SEENES 2 5 1 1 3 1 2| 14
15 HiSH 13 1 45 2 3 2 4 70
SEENES 16 2 2 2 1 23
16 S H 19 1 42 1 1 0 1 0 0 71 72
EBHR 2 0 10 1 1 0 0 0 0 4] 18
17 dHiges | 10 3 41 1 0 0 0 0 0l 10| 65
EBH 1 0 15 1 0 0 0 0 0 2[ 19
13 dHiges | 17 2 48 4 0 0 1 0 o 12| 84
EBH 1 0 20 3 0 0 1 0 0| 10| 35
19 5 3 1 0 69 0 4 4 1 0 0| 16] 95
EBH 1 0 11 0 1 2 1 0 0 4] 20
20 5 3 1 0 47 1 0 3 0 0 0] 25| 77
EBH 1 0 7 0 0 1 0 0 0 5[ 14




W=

At

e ast KK BAK | KE (38 |78 | Es | — k| mE (58 g | Z D
UER|EER|ER ERKE|E ati B [E8|1T48| 7 |EkikE | Z04t
REBFN504E | 1,591 6] 3201 51| 13| 180] 10[ 18/ 972 21
BEFI5 14| 1,741 6 3| 340 54| 20| 199 31 17[ 991 108
REBFN524 | 1,724 2 3| 316] 42| 14| 238] 17| 20 920 152
REFN534F | 1,941 4 5 3| 344 35| 31| 252 9| 12| 1044 147 55
REBFN544E | 1,925 4 4l 3421 37| 14| 263 8| 18] 999 188 48
REBFN554F | 2,006 4 1 2| 341 39| 26| 238 4 13| 1104 185 49
BEBFI564 | 2,155 4 2| 370 36| 31| 285 9] 13| 1152 184 69
REBFN574| 2,123 7 2 5/ 381 32| 24| 309 71 25| 1095 173 63
REBFN584F | 2,109 2 417 40| 25| 270 6| 20| 1098 158 73
REBFN594F | 2,101 3 414 34| 25| 295 12| 15| 1083 169 51
RBEBFNI604E | 2,271 4 3| 408 31| 23| 267| 13| 24| 1252 200 46
REFN614E| 2,007 3 7| 378| 26| 24| 256 71 23| 1086 162 35
REBFN624 | 2,079 3 3| 415 35| 28| 265| 15| 24| 1077 171 43
REBFN634E | 2,255 5 3| 462 31| 14| 239| 10| 25| 1234 197 35
ERITE | 2,179 4 3 2| 466| 27| 14| 214 4 16| 1191 212 26
ER2FE | 2,251 6 436| 40| 17| 255 11| 18] 1217 235 16
ERIE | 2,319 4 439 48[ 16| 249 8| 20| 1285 210 40
SER4E | 2,270 4 1| 442] 33| 21| 238 8| 15| 1274 201 33
ERSE | 2,284 439 33| 23| 218 5 22| 1300 226 18
ERKGE | 2,346 9 432| 34| 21| 246 11| 14| 1319 236 24
ER75E | 2572 5 406 27| 26| 258 8| 24| 1515 273 30
ERK8E | 2,662 4 1| 430] 34| 19| 289 14| 25| 1578 250 18
ERLOLE | 2,608 2 393 39| 25| 315 18| 28| 1508 268 12
TRk 104E| 2,655 2 1 4l 3471 21| 18| 325 6| 27| 1640 243 21
ER114E| 2,994 5 3 1| 390| 36| 13| 374 10| 40| 1819 279 24
TRk 124 | 2,929 7 1 1| 368 30| 13| 369 8| 44| 1807 267 14
ER1345F| 3,171 9 21 4151 27| 23| 420 16| 31| 1912 304 12
TR 144 | 3,337 8 2 1| 347 37| 28| 400 8| 34| 2106 342 24
ER154 | 3,488 8 1| 347 32| 19| 446 7| 45| 2218 345 20
ER164| 3,790 12 355 30| 18| 469| 13| 48| 2446 382 17
ER174| 4072 4 357 271 27| 5371 14| 53| 2594 438 21
TRf184F | 4,058 3 1| 364| 44| 23| 499 20| 50| 2608 417 29
TRk 194 | 4,021 3 2 1| 333| 28| 16| 486 12| 28| 2,700 398 14
ER204F | 3,814 4 326 22| 27| 495/ 10| 49| 2,489 379 10
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